Potencias de 10 (B)

1.313+10

7.9481 =10

4.4919 - 10

1.022 =10

8.2028 + 10

9.4746 =10

4.5408 + 10

3.472+10

1.0622 =10

3.7083 10

Calcule los siguientes cocientes.

9.7375+10

7.3625 =10

5.2673+10

3.6032 =10

3.1232 10

4.2023 =10

5.034 =10

7.3242 =10

1.9335+10

4.7391 + 10
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Potencias de 10 (B) Respuestas

1.313+10
0.1313
7.9481 =10
0.79481
4.4919 =10
0.44919
1.022 =10
0.1022
8.2028 + 10
0.82028
9.4746 =10
0.94746
4.5408 + 10
0.45408
3.472+10
0.3472
1.0622 +10
0.10622
3.7083 =10
0.37083

Calcule los siguientes cocientes.

9.7375+10
0.97375
7.3625 =10
0.73625
5.2673+10
0.52673
3.6032 10
0.36032
3.1232+10
0.31232
4.2023 =10
0.42023
5.034 10
0.5034
7.3242 =10
0.73242
1.9335+10
0.19335
4.7391 =10
0.47391
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